35333:89 21450: 55 55356 : 84

77812: 98 38778: 69 23120 : 80

15677 : 61 16884: 28 65754 .78
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L 2 L 4
L 2

55 356: 84 = 39 897. 31-=
77 980: 20= 99 858. 89=
77 812:98= 38778 69=
79 840: 80= 90 192: 48=
69 745. 29 = 70 312: 68=
18 326:98= 93 130: 67=
43 560: 60= 21 554: 13 =

726

« .
---------------------------------------------------



-----------------------------------------------
g L

“ Bechne im Heft und mache die

Probe |
3776:59=__ = 1344:42=-_
9570:66=__  7718:34=__
4260:60=__ BbHl12:b3=__
5005:35=_ = 3b567:87=___
2360:59=____ 4332:57=____

8 987:19=
9471:33=__

3 312:92=
4 095:45=-_

7347:79=____ 3233:61=___

8 750:2b=__ = 2470:95=__
3956:86=___ 8272:44=___
4718:14=_ = 3312:18=__
1407:67=____ 8184:88=__
7/536:48=_____ 4556:67=___
3410:62-= 6 148'53-

....
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

04
L 4



-----------------------------------------------
\g L
L 2

Obung macht den Bechehmeister l“._

L 4
L 4
0 4
L4
1
N
|

9831:87=____ 5130:57=____
5929:49=____ 877877=____
7656:66=__ 8768:64=
1976:38=____ 5382:78=____
4194:18=___ 1029:49=
@ Vergiss die Probe nicht! @
1184:32=____ 5162:58=____
8192:16=__ 8892:78=__
1911:91=____ 6 674:47=____
3850:55=____ 2982:71=____
8316:99=___ 6417:93=____ !
Bald hast du es geschaltt! @
1843:97=____ 303862=____ ~
8362:37=____ 7081:97=____
2988:83=_ = 2280:95=__
1501:79=____ 2736:12=____
 3955:35- 1 587: 69 = :

....
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII



IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
L 4 L 4

Probe |
5568:64=__ 1863:69=__
8178:87=__ 8514:66=__
3132:36=__ 5520:92=____

9390:15=__ 2556:36=___

1860:93=___ 6669:57=____

3667:19=__ 5785:89=___
9486:51=__ 8680:28=__
7579:53=__ 7924:28=___
5332:31=__ 9699:53=____
7168:64=___ 9558:18=__

i 6150:75=__ 9672:26=__

L 1755:39= 2844:79-

¢ Bettina Moschitz@2009
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